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1. Classify 1.e. choose the best hame for each of these speclal quadrilaterafs.

Section A
Total marks (25)
Please attempt all questions on this paper.

REMEMBER TO SHOW WORKING FOR PART MARKS

The value of each question Is indicated by [ ]
Calculators ARE allowed. .

[8]

2. Provethe angle sum of a trlangle Is 180° L.e. E}
Show that for any triangle ABC, £A +6B+AC =180°.
A
!
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b\, W

n 7 C

The diagram shows a parallefogram ABCD. Note: the oppostte sides are parallal,

Prove that:

§ 38 T (a) AABD=ACDB - B
. R . i
(a) Complete this five fine praof to show that APQR Issimilar to ATSR. i3]
Line 1 In APQR and ATSR
Line 2 LPOR=LTSR | !\)
line3 ZOPR=£STR (o . )
line 4 .. ) { vertically opposite angles ) s .
. < . 7
: (b) £BAD=.DCB. [l
Lines APQR issimilarto ATSR (| J
(b) Hence find the value of x. Reason not required, ' [1] . : ’ - =
5.
A N B
s . W ]
60°
& 880 y@ z
D » c
{a)  Findx. Reason not requiretﬁ: N
! ,‘ .
(b)  Findy. Reason not requlred: |
K ’ {c)  Find z. Reason not requlred. [
y .
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-6.

Find the value of x and y, Give reasons. [4]

i1 -

7.

Find th‘wiy‘—em:easons.——-—# H_k

R R
End of Section A
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Section B !
Working Mathematically
Total marks {25)
Please attempt all questlons on this paper.
REMEMBER TC SHOW WORKING FOR PART MARKS i
The value of each question is indicated by [ ].

Calculators ARE allowed.

8. In the space below, use geometrlc tools to construct three triangies that have [6]
a slde of length 5 em, a side of length 6 cm and an angle of 30° and yet are different in size.
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[4] 11. ' .
{a} Canstruct the perpendicular bisectors of each of the three sides of trlangle ABC. [3]
i 1 . -
; ‘ i.g. construct the perpendicular bisectors of A8, BC a’rﬂ_@/,,/—\
i . E //
- r
/
/
4
10. Construct a regular hexagon, in the space be[\ow. [2] (b} The perpendicular bisectors you have constructed meet at a point. This point Is
the centre of the circle that passes through all three of the vertices of AABC.
s : Draw this clecle on the diagram above. 1]
[
e
12, Wrlte Yes (Y} or No {N) In the space prov[ded. [4]
Propertles . Square | Rectangle | Rhombus | Parallelogram
Opposite sides equal in length | il N e
Diagonals equal In length
Diagonals bisect each other
Plagonals bisect angles . .
through which they pass {- ;-
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13,

The dlagram above shows a thombus A8CD with diégonal:s ACand BD;
Note: all sides of a rhombus are equal and opposite sides are parallel, 55'shown.

Prove that the diagonals of the rhoembus bisect each other. 5]

End of Test
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o

%%nmod’é’

~
-

ST SPYRIDON COLLEGE

Mathematics

Sections Aand B

Welghting (Sections A and B): 20%

Reading time (Sections A and B): 5 minutes
Writing time {Sections A and B): 60 minutes
Marks (Sections A and B): 50

Toplc examined: Geometry

Instructions

* Write on this paper

* Write using blue or black pen

* Use a pencil for all diagrams

* Calcutators are allowed in Sections A and B

* Please show working
s A formulae sheet Is not provided

10ASCAT 2

Class 10A
2011

School Certiﬁcate Assessment Task 2
Half yearly Examination

Section A
Total marks (25)
Please attempt al! questions on this paper.
REMEMBER TO SHOW WORKING FOR PART MARKS
The value of each question is indlcated by { ]

Calculators ARE allowed.

Classify i.e. choose the best name for each of these speclal quadrilaterals.

Bl

Squey clodos/ Sy

Prove the angle sum of a triangle Is 180°i.e.

Show that for any triangle ABC, £A+ 68 +2C=180".

Cunhe Y

[8]

W AABC
N c%nmd( line DE 11/

U\a\r\ ?o'm’f C

ELDCA=GLAES

[ (B
[ ACB

S/

i

(B
LCCEA\»@

o o LAFLBY gy

Ghongy Wt
ij |
gle)

Wednesday, 1 June
Name: _
Section .| Mark | Maximum
A 25
B 25
A+B 50
2011

10A SCAT 2



{a) Complete this flve line proof to show that APGR s similar to ATSR. E]|

Line 1 In APGR and ATSR

Line 2 crar=crse ( Marnade pdes, omd. (W;“uﬁt (’“’l% /
lne3. ca=zsm ( Mewnede w\; 25 am\ %~ ell (4 “es /

Line 4 Z—?&E,z = LTRS { verttcally opposite angles ) /

Line 5 APQR issimilarta ATSR (LG, b\,(,LaMa L“\f*'*")
i

{b} Hence find the value of x. Reason not required. 7 [1]

/\J\%

10A SCAT 2 : 3 2011

The diagram shows a parallelogram ABCD. Note: the opposite sides are paralfel,

Prove that;

Bl

(a} AABD=ACDB
w AABD cund ACD%I

V8 s commpu ///
LAV = L CBD Calteraie tongles cnd pun e

LABD= Lepp (% W) bing

oo AMBD = A\ (DB(AAS)

{b) £BAD=/DCB.

Homee LBRAD=/D(3 (W@L‘F{;L‘,ﬁuj

Cowgr,\

g
Lowihs o

les

‘-}V(QMQFS)

{a) Find x. Reasan not requirad
(b} Find y. Reason not required,

le) Find z. Reason not required, =<3

10A SCAT 2 4



J
find the value of x and y. Give reasons. A
CGM%‘F"UL(X [/wuz/ AO Ii [,AOB:(-%)"
AD= RBO(rsddi() (c«««f(g

< AAOB €S i%cg/fg )S(bwva

LATD = OA%;%% (L«sé)

gt 0
[

/ BAO L2

Find the valu’evgfrx_@gykgi\.rﬁreasons.————h_\

@ZO = gn® ( Spmacivile

End of Section A

10ASCAT2 5 ’ 2011
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Section B : .
Working Mathematically
Total marks (25)

Please attempt 2ll questions on this paper. i
REMEMBER TO SHOW WORKING FOR PART MARKS [

The value of each question Is indicated by [ }
Calcufators ARE allowed.

8. In the space below, use geometric tools to construct three triangles that have {6]
a side of length 5 cm, a side of length 6 cm and an angle of 30" and yet are different in size.

Som

1

Ap

Ree
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[4] 11.
(a) Construct the perpendicular bisectors of each of the three sides of triangle A8C. [3]

f ' : .e, construct the perpendicular bisectors of AB, BC and CA .

\¢

V7

OE- UF(WLH) if{

:Z& 0 22 ic i€£75(12[€5 oo aid )
@E:OD(VW({{) ( f& ULL&[)

AOED'@

/

sosceles (oo sides ey, |
. )

S Xx

10. Construct a regular hexagon, in the space below. [2] {b) The perpendicular bisectors you have constructed meet at a point. This point is
the centre of the circle that passes through all three of the vertices of AABC.
Draw this circle on the diagram above, I]
i,
,'/J‘
12. Write Yes {Y) or No {N} in the space provided. {4]
. Properties Square | Rectangle | Rhombus | Parallelogram
Opposite sides equal in Iength Y Y K N 2
— Diagonals equal in length N A NA Y Vo

Diagonals bisect each other Y Y L A Y
Diagonals bisect angles wai /\/
through which they pass y ) Y y

10A SCAT 2
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13.

A B
jl ,
D C
Ao all
The diagram above shows a rhombus ABCD with diagonais AC and BD.[3 On=pe
Note: all sides of a rhombus are equal and opposite sides are parallel, 35 shown. gw(g
Prove that the diagonais of the rhombus bisect each other. Is] Fv Cath,

ln AAOR cwd NCOD
LAOB= CoD (et orp)

ZOAB AOQDC%\){'Q/\/MO\&L wngles ool

DC=A C%vi\f%\ portidlel Lice,

RBAOB = Acpp ( AAS) /f/
@Sm(wj AAOD = ACpR

&Q@@ V= CR (g,
L AD gree)
CB S [SOSC{’/({;(WO eﬁj«i)

i

‘5175&((7/_1_ (o,
2«\%\ bq UL (7%

l S Cof
. End of Test mmoh
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